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Note:- Attempt all the questions. All quuﬂom 'equal marks.
This paper carries negative marking, 26% will be deducted for each
wrong answer.
Total time : 3 hrs
L Total Marks : 150
> 3 English — Hind| Bilingual
Choose the correct answer #
i Marks:3 |1 Marks : 3
The general rule for height of a door followed |. HRE H gXarst & a1 AN & @
in India is: Height = Width + | e s
vieveeso.pproximately. W=ﬂ1‘5¢ Wosaasiiiess
A 0 60m lo 0.80m | A 0.560m to 0.60m
B 0.60m o 0.80m . ‘B 0.80m100.80m
C 1.00mte 1.20m € 1.00mto1.20m
D 1.40m to 1.860m ~ 1.40mto 1.60m
5 ;
The sketch shown below is a
|
|
| =
lantern A :
clerestory window B8 FEl [&E
C skylight d
D bay window D7
L : = Marks : 3 " Marks : 3
The fype of lock shown in the diagram is - A AREET AT § e TR,
knownas.........c......, X ST
e = |
| & l L |
| { i l i —_— ]
14 [] - 0 |
/ N | | & A
7 4 i I {
o A FE S
= | 8 #éta afs
D pad lock o = Al
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4 Marks:3 | 4 Marks : 3
How many total number of hold fast are ZXarg# e A R A maF R
. ed to keep the door frame in position? g:ama\o—s'm war R A § 7
A 2.
6w/ 6
C 10 C 10
D 16 D 18
5 m:3 | & Marks : 3
Flush doors are mainly of .............. | TUERES ARy FETE
A Slypes A SYSR
B 4Iz( 4 UhIT
+C 3lypesu 3UHR
@/l)ypos./ ) 29FR
[ ks :3 | € Marks : 3
)’Na lowsrmost horizonmlpmofaw&m U TR ST & e e aiferer st
v/ Trame is known as .. L ...... F T H ST AT §1
A il Rew
B bottom rail 3 dJfew W
C lockrall wiF T
D transom D TEH
B fark . Marks : 3
The outside vertical members of the shutter U 8 AT Seies ZeaTer & AR adfEe
ora,hmmdpmmddw.tomﬂﬁ AE STET I WA BT & ST e ...
rais are joined, are called as .. . A 9H
A /posts B
rails :
C ViEed
C styles i
™~ D mullions ', : E -
s Marks 3 i v e @ o
traight, plain or square joint is also known | ménart """""
- ORI e
/A bt & fae iz
~ B rebated joint & Rt
C rebated and filleted joint 32 g’?@ . sﬁsz
D tongued and grooved joint . % nggsﬁsz Marks -3
N e | S d st B e &
The joint between the tie beam and the .
principal rafter of a roof truss is ;;Tﬁ;a’fs?a#mqr """""" i)
A “housed joint B 3iffew® oy
~ B oblique tenon joint c aF AGY 573'6
¢ bird's mouth joint J‘D ST sk
D joggled joint
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10 Marks : 3 Marks : 3
& Thebearing joint shown in figura is called as ﬂmﬁmvwﬁﬁmﬁwﬂw Sise Y
OB .. FET T
| ~J ‘ B o E_
s B L
p 3 ) | -
3 ) ;
A /housed tenon joint T Sge
mortise and tenon joint ¢ [ & & Sifsc
C housed joint z FEe
D nolched joint : B AEE Sige
1 Marks:3 | Marks : 3
) @} In the case of cement concrete flaors, the e & i &, 39 Fhe Hr A
e ; thickness of the base concrete is about ...
Dfaem e T ...
B 10 cm
C 20cm
(ZJZM:m mm:s: D e
§ ““in the case of a wooden fioor, the fioor joists I el & e A, TR Aeeey @ are
& may be joined to the wall plates by ......... & SERT SA3T ST Tl &
~ A mortise and tenon joint
@ B bridle joint -
C chase mortise joint
D cogged joint
« 13 ~ Marks:3 | 18 Marks : 3
<% RCC slab floor is designed as twowayslab | ROC Eta B, w-& water & w7 3 Forar
when the ratio of the length of the room to its |., AT E S FAL O oGS A e 7
Width 184 veeeevee . EEESTUT...........coc0-
A lessthan 2.5 g zsgam
B than 2.5 B 25 SamEr
€/ less than 1.5 C 153w
greater than 1.5 D 1535y
14 Marks:3 | Marks: 3
- BRI, | swbmgro st e
en member “X* ‘
3 wREAREE R xS A
o 10 T ET F T A FE AL e,
THR m ‘ P |
: ‘\ —ﬂ—;-;n_i % + E/ \\m |
A Ceiling ‘ l o~ —"'—"_"‘ig
binder nh Ig e Az
/€  bridging joist
D girder “u o e
|
||l
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(1? Marks:3 | 15 Marks : 3
Qack arch floor consists of brick or concrete o 3T Y ST ATTRhlc A H old &
jacks which are supported between SRS AR FATTAGT ...
R.S. Joists, placed .............. a;m @I
A 0.5mapart | A o5
/B 1.5mapart B 15T
C 3mapart c 3#HRT
D 4m apart | D a#RET
16 arks:3 | 76 Marks : 3
*  Headroom is defined asthe ... ..o | FZET IR ...ovooreoee A g
A vertical distance between the nosings two A T TR TTgEH B i B 9w R
successive flights } '
B distance between the nosings ofone | .
t and the soffit of the next flight e Wmfmﬁg":ﬂm?ﬁ ?ﬁ?
lately succeeding It || axd b v
vertical distance between the all T .
fight and the sofft of the fiight Immediately [ © ¥ Ywirie & AT 2R TR e s
above |t - ‘ mMaﬁaﬁiﬁqaﬂ'ﬂ\m,ﬁﬂ'ﬂ
‘D vertical distance between the soffitofons | &) wwEe @
flight and that of the flight immediately | D & gaEe 3 wifte 3k vage Wb
above il ' S 5 s e B B el
17 ks:3 | 17 Marks : 3
The total length of a staif in @ horizontal mmm#mmﬁw
plane including lengths of landings is known TS Afed Sae o @arg B L6 FT
- R ¥ AT e
A foing A Mg
flight B T
.. c
D llﬂ[uWﬂy g 1D m
18 Marks:3 |73 Marks : 3
@ inclination of a stair to the horizontal I GEELCE AR IR
// shouid be mied 10 ........coocusesie st wﬁmﬁamsg?
30° to 45" A 30"to45°
B 10°1o50° B 10°to 50°
C 45°1060° C 45"10602°
D 15°1080° D 15°to60°
19 Marks:3 | 19 Marks : 3
e height of handrail above the risar should 20 Y 5975 USRI FATHA
approximately...........
MEgmm s S ... BT TTfRe
600 mm A 500 mm
C B0Omm B 600 mm
D 1200mm G S0mm
D 1200 mm
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f -.
,\20) Marks : 3 | 20 Marks : 3
LA

dog-legged stair is to be provided in an R % fov 2.841T
office building for a total height of 3.80mina | |

staircase 2.8m x 6m; with two equai flights. If
rise = 16.38¢cm, then number of treads In
each flight ls

‘ Marks : 3
- Fra F a7 v dgr ar

gﬁm winid s g
A mm

B 800 mm

C € 1200 mm

D 1500 mm -~ | D 1500mm

22 Marks:3 | 2 Marks : 3
The given plan shows the portion of flight, In -ﬁwmwﬂw# 38 AT R ST,

which the bottom-most step is named as

--------------

[_ 5 Yy "‘
= Il
| 4 L]
: . ;"/_
~/A winder
B filer =
C bull-nose step G qod AT T
A-D_ splayed step |D_FEwE By
23 ) Marks : 3
mapeazamatmeendofamor e 3T o F Itw s H v
........ AR AT O v FEA R
A platform A EEH
B rélief 8 few
landing - p AT
24 / Marks @ 2 Marks : 3
Coupl roofs can be used for spans P | ey Fter w9 &1 G aF
T S \ S
A

B &
3m

D 6m |C 55m
D Bm
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25 Marks: 3
What is the name of the roof shown in
figure?
v‘a E"a J 1
I i ‘.
‘A couple roof A
¢ B ple close roof
C/ lean to roof
coflar roof A
2 Marks:3 | 2%

The two members of the king post truss, '
@ which are subject to compression, are....... |
A strut and principal rafter '

B tie beam and principal raftar

-

YC strutand king post | e e o5 fmr dne
ol i i ;%u&mrwﬁ:rv\w
o "‘ij—rhw" ' Marks : 3
Which statemants are made about Gl ' gﬂrz #r A mgfq&m
sheets when compared 10 AC sheets? 1 ; ST T
) A Glshestsare light in welght when ~ aagammwm
to AC sheets - ‘
B Gl sheets can be made very thin %i = mm%
JC Gl sheets are more sound-proof than AC. .
SN D o v 3l go A v ET
% D Gl sheets get affected by acids-and z o
28 - 28 Marks : 3
A line usually paraliet to the piot - O AHAR TR Se it
laid down by local authorities, . AR TS ' _
nothing is to be buil, is calied-............ uiRe & ek ¥ orwe st go
IA  building line 1 AT T ET , T AATE ...
B drainline A Rfedr o
C frontage - 3?& Rl
:a e T L
g 7 Marks : 3
The flacr dresssalio(FARNIS. = The floor area ratio (FAR) s............
plot area
> buituparea A a‘ﬁu;
totalplintharea
tlitare: S i
o lotal covered area S -
toté] built up-area T —
ol total floor areacfall floors b iotalfoor areactallfoors
\‘/ total plot area total piot area
W - Question Paper - Page6/ 10
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(630 Marks:3 | 30 Marks: 3
O A multifamily dweiling is also known
WO N

A :'?l(ﬁouse
B via
G apariment
duplex house _
31 Marks:3 | 39 Marks : 3
i As per National Bullding Code, the minimum: | Snmiw RS Rz , U HAT
() area for a kitchen in a residanlial building, is | ARG # U 01§ 0T & fav n Fww

é/ A 25 _ b

4.5m°

D 7m’ _/" [':
3z A - z Marks:3 |32 Marks : 3
Bel-fast roof truss can be used for big spans. | 2 =P :
IVfs used for spansupto .......... R e & mtrwa'
A/15m A 4En
B 0om/
C 40m
D 45m D 45 .
The name of the-horizontal member fixedin | _
between the heads of the queen postsina | ﬂﬂ’ﬁmma‘:?vmg
QPT'S.,.;......... | l lﬁa F‘"!a"';'za ﬂi! a; .............
A strut”
B gvfemn - 8 .
v C_“straining beam .__r,: -
D straining sl &gﬁw Rieen
3% Marks:3 |34 Marks:3
The member which nuns horizontally atthe | St ¥ O & Icaaw T W
- highest level of the roof is lermed as FIRGed 39 ....... TEISCTE
o IR
B eave-board . ‘i' - _
C barge board C wor A
D purin D SRl
36 Marks:3 | 3¢ Marka : 3
The member of the quesn post truss fitted T T & URY 3 oy o v R arar
between the feet of the queen postwis.called. | TN GIvE T8 & WaTT HF FEV A
1 ARt o o
A sttt 7 \*:gz :
- B o dhr
C st beam ;
D - C v @
= D R feer
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36
The minimum width of stair for a multi-family
residential occupancy shall not be less than

Marks:3 | 38

Marks : 3
gRER eERaw &
%ﬁwaﬁr& ......... anees

A 080m
B 090m
C A10m
1.20m'“/
~ Marks : 3
CAM stands for .............. LG I
A Computer Aided Monftoring W TS HTere 4T
B Computer Aided Memory FYR 33 AAD
€ /Computer Alded Manufacturing . U3
. Computer Aided Manipulation X | B G
N[ 38 Marks:3 l:-_‘i Marks : 3
The modifying tool ‘Array’ Isaformof ... | SR ST T ...... 7 0F F9 ¢
A MOVE command A MO ‘ﬁ'{lg .
B COPY command 1B C
C MIRROR command c N\
D OOPS command ¢ {b_
{ ag _ m:ﬁ 38 " o M:‘;kt;:z:
You want to shorten an entity while d | S 1 BT A U g Y CAD
in CAD. The command you use s ... AT B & il AT T 34N AR
A TEND :
B EXPLODE
C /ERASE ERASE
P\STRETCH | 8 5
2 40 . Matk__s:.‘,-l' 40 . ﬁ;arka :ﬂ?
v =" The command which reverses the effects of | YT iz g?\'ﬂﬁ‘
a serles of previously used commandsand | %’m;ﬁmﬁ' ?;ﬁ%"{?&
thus allows back-steppingis ......... GU?
A PEDIT A PEDIT
B ERASE B ERASE
+C U lec v
B OFFSET D OFFSET
4 oo 3 lh:.« Marks : 3
For entering polnts In Aut , one of the FREPE ® WET T T D
methods used is *relative coordinates® | B m m.rl. i m g%\,mm i
e a pom, the nevtwodbaenered | TI-SISHE AR 7 €1 5 AR A
W@ @Ee ¥2X B 8, T e 39
XY . G re 1 |
@xy |a xy
C @D<A B @xy
D X@Y |lc @p<a
D X@Y
~  -QuestionPaper- - ~ Pages/10
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F O — Marks : 3

BREAK command is used 1o........cc e

A create mulliple copies
B retrieve an erased object by the last erase
/C Dbreak a polyline into its Individual sagment
D erase a portion of a line

43

from the wall of a hall providing additional
- sealing accommodation is called ........

A sitout
B balcony
~C gallery

D loft

44

. FAR is 0. 80, then maximum buiit up area

can be put up on the plotis..........
A 560 m’ '

B8/ 620m’
~C 140m
D 280 m°

5 Marks 13

The most important factor, among the
following, to which design and planning o
building depends, is ... .........
\A orientation
B appeamnca
3‘_

=D eoonomy

Marks :3
An intermediate flocr or platform projecting

If the plotaraa is 700 m* and if pefmiubb

a8 Marks: 3

What do you understand by roominess?

A The effect derived from interior decoration of

aroom

B The effect derived from cleanliness of a room

c effect derived from colour theme of @
room
The effect derived from space of a room

a2

R

e

‘hrks::!
FETAUT HHE § Sl [SrseT
3T Al & v sARg W R awar g

”m'l

A RS
B Elvinice:s
5:1' m

Marks : 3

T FANCT & T HASA 67

. U AT T FTARE FATaE B WHEH

T FHAY T WIS 1 THE
U HAL ohl 1 Harell &1 9ona
U s o191 & JaTd

47 Marks :

The arrangement of different rooms ina
building in proper correlation and in due
pro with each other is known as ... ..,
A Iness
B lation
grouping ~
D fexibility

Marks : 3
U SAR A Jo9T-3109T Sl ahl saaer
3T WY 7 AR v gEt & 9 e
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48 Marks:3 | 48 Marks : 3
The practice of assembling components ofa | UaF UHFaTo9T Tl 1 31T T
structure gafacto:y away from the HRBT F g HITT WA T

nsite is called ............... | evissnnennn BT STAT & 2
B

brication™’
standardization
pre-tensioning | == Marks : 3
49 3 B s :
Which among the following is NOT an TeT#=1 1 3 i 0 U QAT S
advantage of prefabricated structures? "
A Increase in quality of construction A
B Reduction of construction waste | B =AW
€ Independent of adverse weather conditions '@ fevaiior & 2R widger witersr i Ry
ddring construction | wEEw
D Transportation of prefabricated sections | n o#ect-r= Fr ararara 3EnT 3tk
— ~ easier and cheaper. | =z
50 Marks:3 | 55~ Marks : 3
Carpet area of residential building Is usually SR e+ W Fde TR IHa
A 40% to 50% of plinth area o ofEr & 40% & 50%
B 50% to 65% of plinth area ‘ 2 URET ST 50% W 65%
'3(, C B5% o 75% of plinth area / 3 uiar T 65% A 75%
D 75%[0“)%“%“. mﬂmém
|
1
1'"
)
U )
I't
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